ORIGINAL

RFB# F-103-2020

## COUNTY OF MONMOUTH STATE OF NEW JERSEY

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP) F-103-2020

#### INCLUDES:

NOTICE TO BIDDERS
GENERAL CONDITIONS
EEO LANGUAGE
EEO QUESTIONNAIRE
BUSINESS REGISTRATION REQUIREMENTS
STATEMENT OF OWNERSHIP
IRAN DISCLOSURE FORM
AMERICANS WITH DISABILITIES ACT

NON-COLLUSION AFFIDAVIT
ADDENDUM ACKNOWLEDGMENT
BID DOCUMENT CHECKLIST
REQUEST FOR BID
ADDITIONAL SPECIFICATIONS (if any)
SIGNATURE PAGE
ANTI-DISCRIMINATION IN EMPLOYMENT

**AUTHORIZED: September 24, 2020** 

ADVERTISED: February 11, 2021

THOMAS A. ARNONE
DIRECTOR OF THE BOARD OF COUNTY COMMISSIONERS

MARION MASNICK CLERK OF THE BOARD

TERI O'CONNOR COUNTY ADMINISTRATOR

<u>HELEN P. FIORE</u> DIRECTOR OF PURCHASING

NAME OF BIDDER: Garden State Highway Products, Inc	
ADDRESS: 301 Riverside Drive Millville NJ 08332	
Phone: 856-692-7572 / 1-800-338-5685 Fax: 856-692-2929	
Phone: 650-692-7572 / 1-600-550-5000 Fax. 650-552 2025	

PLEASE INCLUDE ONE (1) UNBOUND ORIGINAL BID WITH SIGNATURE(S) AND TWO COPIES

### RFB# F-103-2020

### **County of Monmouth**

**REQUEST FOR BID** 

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

### FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP)

RFB must be	received no later than: Februa	ry 24, 2021 10:30AM		
For Delivery t	Division of Engineering/Traffic Safety 240B Center Street, Building #2, Free			
Delivery Date	: 90 DAYS AFTER AWARD 0	OF CONTRACT		
ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
POLYE ORANG SHALL STAMP THE BA PRODU BRAND EQUIVA Packa MFGA	ICT # LIFEGARD II LG2-H46DO I: PLASTIC SAFETY SYSTEMS OR APPROVED ALENT	NG	\$71.66	\$3,583.00
ORANG WITH F WHITE 4 INCH 4-INCH BELOW SHALL STAMF PRODU BRAND EQUIV Pack MFG Prod	IC CONES, 28" HI-VISIBILITY FLUORESCENT GE, MOLDED POLY-VINYL CHLORIDE (PVC), HIGH INTENSITY 6-INCH AND 4-INCH REFLECT BANDS, 6-INCH BAND SHALL BE LOCATED 3 ES FROM THE TOP OF THE CONE WITH THE BAND LOCATED APPROXIMATELY 2 INCHES V THE 6-INCH BAND. MEET ALL MUTCD STANDARDS. PED WITH MCPW AT BASE OF CONES. JCT # 28PVC56CC4CCMCPW D: WORK AREA PROTECTION OR APPROVED ALENT aging: VBrand: LOCATED AND AREA VB PROTECTION OR APPROVED ALENT AGING: MCCATED AND AND AND APPROVED ALENT AND AND APPROVED CONEO280701BB MONE	ТО	\$12.14	\$12,140.00
PIECE WITH I PRODI	AND SLOW PADDLES, 18" X 18", PVC ONE- HANDLE 72" (FROM GROUND), 6" LETTERS DIAMOND GRADE SHEETING JCT # STSL-18DG D: GSHP-3MDG OR APPROVED EQUIVALENT	75 EACH	\$39.46	\$2,959.50

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-103-2020

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

**Contact:** Rebecca Szabo 732-431-7370 x7381

# FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP)

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 10 Per Bundle  MFG/Brand: GSHP 3M DG  Product No: GSHP/ST/SL-"18"  Variances, if any: NONE			
4	RED REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING, PRODUCT # BSX-372 BRAND: BRITESIDE OR APPROVED EQUIVALENT  Packaging:  MFG/Brand: Product No:  Variances, if any:  None	30 EACH	\$19.69	\$590.70
5	WHITE REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING, PRODUCT # BSX-372 BRAND: BRITESIDE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:  None  Wide X 72" LONG FOR  LONG 5 TAMPER  AND 1 TO STAMPER  BRAND: BRSIDEBSX372DG3WHI  None	30 EACH	\$19.69	\$590.70
6	YELLOW REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING, PRODUCT # BSX-372 BRAND: BRITESIDE OR APPROVED EQUIVALENT  Packaging: MFG/Brand: Product No:  Variances, if any:  None	30 EACH	\$19.69	\$590.70
7	FLUORESCENT YELLOW GREEN (FYG) REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING, PRODUCT # BSX-372 BRAND: BRITESIDE OR APPROVED EQUIVALENT	30 EACH	\$19.69	\$590.70

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-103-2020

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

# FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 30 per box  MFG/Brand: Lordon  Product No: BRSIDEBSX372DG3FYG  Variances, if any: None	- - -		
C F	MEN WORKING AHEAD" 48" X 48" FLUORESCENT DRANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:  MENSO 485 BSPECIAL None	50 EACH	\$81.40	\$4,070.00
F F	FLAGGER (SYMBOL) ", 48" X 48" (W20-7A) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP BIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK, PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT  Packaging:  10 per box  MFG/Brand: Product No:  Variances, if any:  None	50 EACH	\$81.40	\$4,070.00
( F	ONE LANE ROAD AHEAD", 48" X 48" FLUORESCENT DRANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging:  MFG/Brand: Product No:  Variances, if any:  None	25 EACH	\$81.40	\$2,035.00
i : : :	" LEFT LANE CLOSED ", 48" X 48" (WORDING) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT	25 EACH	\$81.40	\$2,035.00

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-103-2020

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

# FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

EM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
M P	Packaging: 10 per box  MFG/Brand: JBC  Product No: RUSBO48SBW20-5L00  Variances, if any: None	•		
FLU SIG RIB PRO	IIGHT LANE CLOSED", 48" X 48" (WORDING) UORESCENT ORANGE SUPER BRIGHT ROLL UP GN WITH LEXAN POCKETS, WITH 48" FIBERGLASS BLOCK RODUCT # SUPERBRITE ROLL UP SIGN RAND: ORALITE OR APPROVED EQUIVALENT	25 EACH	\$81.40	\$2,035.00
M P	Packaging:         10 per box           MFG/Brand:         JBC           Product No:         RUSBO48SBW20-5R00           Variances, if any:         None	- - -		
OR. POO PRO BRA P M	E PREPARED TO STOP" 48" X 48" FLUORESCENT RANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN DCKETS, WITH 48" FIBERLGASS RIBLOCK RODUCT # SUPERBRITE ROLL UP SIGN RAND: ORALITE OR APPROVED EQUIVALENT 10 per box Packaging: MFG/Brand: Product No:  Variances, if any:  None	25 EACH	\$81.40	\$2,035.00
OR PO PR BR	OAD MAY BE FLOODED" 48" X 48" FLUORESCENT RANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN DCKETS, WITH 48" FIBERGLASS RIBLOCK. RODUCT # SUPERBRITE ROLL UP SIGN RAND: ORALITE OR APPROVED EQUIVALENT Packaging:  MFG/Brand:  Product No:  RUSB048SBSPECIAL None	25 EACH	\$81.40	\$2,035.00
15 LAI OR PO PR	Variances, if any:  ANE ENDS (W4-2R), 48" X 48" FLUORESCENT RANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN DCKETS, WITH 48" FIBERGLASS RIBLOCK RODUCT # SUPERBRITE ROLL UP SIGN RAND: ORALITE OR APPROVED EQUIVALENT	25 EACH	\$81.40	\$2,035.00

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-103-2020

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

# FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY MONMOUTH COUNTY CO-OP)

EM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	MFG/Brand: JB	0 per box C ISBO48SBW4-2ROO None			
16	SUPER BRIGHT RO WITH 48" FIBERGLA PRODUCT # SUPER BRAND: ORALITE O	), 48" X 48" FLUORESCENT ORANGE LL UP SIGN WITH LEXAN POCKETS, ISS RIBLOCK IBRITE ROLL UP SIGN R APPROVED EQUIVALENT	25 EACH	\$81.40	\$2,035.00
	MFG/Brand:	BC RUSB048SBW4-2L00			
17	ORANGE SUPER BI POCKETS, WITH 48 PRODUCT # SUPER	0-3) 48" X 48" FLUORESCENT RIGHT ROLL UP SIGN WITH LEXAN " FIBERLGASS RIBLOCK RBRITE ROLL UP SIGN PR APPROVED EQUIVALENT	25 EACH	\$81.40	\$2,035.00
	Packaging: 1	0 per box IBC RUSBO48SBW20-3000 None	- - -	· · · · · · · · · · · · · · · · · · ·	
8	FLUORESCENT OR SIGN WITH LEXAN RIBLOCK PRODUCT # SUPER	IEAD" (W20-1) 48" X 48" ANGE SUPER BRIGHT ROLL UP POCKETS, WITH 48" FIBERLGASS RBRITE ROLL UP SIGN DR APPROVED EQUIVALENT	25 EACH	\$81.40	\$2,035.00
		10 per box BC USB048SBSPECIAL None	-		
19	FLUORESCENT OF SIGN WITH LEXAN RIBLOCK PRODUCT # SUPE	OCAL TRAFFIC ONLY" 48" X 48" RANGE SUPER BRIGHT ROLL UP POCKETS, WITH 48" FIBERLGASS RBRITE ROLL UP SIGN OR APPROVED EQUIVALENT	25 EACH	\$81.40	\$2,035.00

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-103-2020

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

### FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 10 per box  MFG/Brand: JBC  Product No: RUSB048SBSPECIAL  Variances, if any: None			
20	"ROAD WORK AHEAD" (W20-1) 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging:  MFG/Brand: Product No:  Variances, if any:  None	25 EACH	\$81.40	\$2,035.00
21	"BRIDGE CLOSED ", 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:  None	25 EACH	\$81.40	\$2,035.00
22	VINYL SAFETY FLAGS, 24" X 24", 36" WOOD HANDLE COLOR: RED	100 EACH	\$3.10	\$310.00
	Packaging: 10 per box MFG/Brand: MUTUAL Product No: 14967-79-36 Variances, if any: None	<del>-</del> -		

TOTAL:

\$53,915.30